HiEANT A+ [SEREIE] IS

[NERRUEHEHETIR(F1HIEE)]
1,800 1627
1,600
1,400 1,262 1234 1,238 1,249 1,250
1,200
929

1,000
800
600
400
200

H26 H27 H28 H29 H30 RIT R3 R4

—— B Fit —e=—LFit —0—Ft
[E&FK]
1,200 1,101 1,096
1,000
800
641

600
400
200

H26 H27 H28 H29 H30 RIT R3 R4

= F T it —@=LFit —=0—3it

REE

(FERRUVEBEEFR(RARE)]

* H29~BREE (AdY 4 XERERR)

500
439
400
300
200
.- 97
100 54 54 52 61 72 66
0
H26 H27 H28 H29 H30 RIT R3 R4
-—F Fit —@=LZFit —0—it
[£1F]
3,500 3133
3,000
2,500
1,908 1776
2,000 1,686 ,
L3g9 1460 1,563 y 1,582 1,588
1,500 1,225
’ 1,061 1,080
1,041 1,021 , 1,018 918 975
1,000
500
0
H26 H27 H28 H29 H30 RIT R3 R4
= FEFit —@=LFit =0=—7it




